=
T

@ 5

]
=

A(1, 2), B(=2, 6) Ato]2] Ag&?

@ 6 ® 7



T HA2, 3), B(4, 1) oA 22 720l = x 5 1] AP o disted]
44 0 ollA HP 74A] 9] A2 =?

@ 1 @ V2 ® V3 @

> w
@
V]



3. FHA(-1,3),B(6,-2)° tHoto] ABE3 : 2 2 YEsH= M9



AABC 2] 7

=11
O]’t‘

o=

T
BAA

), C(3, 3) &

@ (2, 1) ® (3, 1)

@ (1, 1)

® (2, 2)

@ (0, 1)



Hl 3 0(0,0), A(=3,0), B(4,0), C(2,5) °ll st} 47 A0C 9] 4



6. t=FAAdL, LMARFIDT T, A L o 7e7]?
y




7. m>00°]a, F & (m 3), (1, m) ] 71717k m 1 A4 9] =
o, m 27

@1 @ V2 ® V3 @ 2 ® V5



1y =ax+b 2 W, 3a+b o] e F5H?



9.

Al A
;g]—au A(—l
1o ,4), B(0,1)
,1), C(a

Be
= - d—

r
o
2o

oA

30,
S

Lo

o



10.

3x+4y -2 =00°] 20|,

dd ol g5 stefet

D
=%



3(a - T of TAgle] Ht=
(a—1)x—10°] A5 a o ghofl TAglo] ¥
E/\]

O A 1AHEH

@ A 1AHEH B2 A 2AFEH
@ Al 24t -
@ A 3AHE

® Al 4AFEH

M
2

=)



o

>,
o,
o
ful)
o
kl

HEAEY] Fol7t 3 Q) U] $A

@ 2+y’=1

@ x?+y? =32

29



=3 Hed 29

L
-

x>+ y?=2x+4y+4 =0 °] UEH]



14.

Fhols (x, y) = (x+a, y+4) ol &5t A2, 1)l A (1, b) =
SAXA W, a+ b 9 FH2?

@® -3 @ -1 ® 2 @ 4 ® 5



1

of tiste] tieolsdt & 424 P, Q2 g o,



@ (2, 0) ® (4, 3)

@ (1,-1)

® (7, 5)

@ (6, 4)



17.

A x?+y?=2kx+ky+3k = 02 TA4°] (4,-2) 4 o, o] Y] ¥H2]F9]
710]_‘:‘)
= .

O V6 @ 22 ® 32 @ 42 ® 52



18.

x? +y% — 2kx + 2ky + 3k — 4k +2 = 0 9]
o) WA T, A%k 3LE] B FOHA.



19. WAA 2 +y? +4x-6y+k+10 =0 °] Y& UHHES ol= A5
k o] gte] M el=?

@ k<3 @ k>3 @ 0<k<3

@ k>2 ® k<2



20.

X
]
=1

® 6

@7

Zol Mot 9 919 A P o tfshe] OP
)

® 9



21, TG+ +y? =12 +y*-6x-6y+2 =02 FFHA
Ma=?

@ 074 @ 174 @ 270 @ 37 ® 47



22.

L2432 =4 9191 A (1, VB) o FoH WAL YL

D x+ V2y=4
@ V3x+y=4

@ x+ V3y=4
® x-V3=4

® V2x+y=4



23.

71717 1 o], 9 2 432 = 4 o W5

L o] upAAle9



24.

=2 A P(a, b) & A y = x o thafl thH <!

£ T8 ol
[ ol gore wre Atz A Yol

4 QY FE (v, y)

Xta ﬂ)gm

fa B

<1>m94%@(




25. oy BHAA AN AL :x-y+2=0,lp:x+y—-14=0,I3:
Tx—y-10=0 22 FAQ A2 o] Hst= 99 S4°] (a,b)
CREAZO] QL at bt 7 O & PR

B



